(Subtiaction

| Sula+rac+ina humbers enalina in whole tens..
-

1. 490 - 130 = 16. 430 - 330 =
2. 670 - 590 = 17. 720 - 510 =
3. 880 - 430 = 18. 860 - 630 =
4. 430 - 400 = 19. 390 - 140 =
5. 970 - 820 = 20. 440 - 150 =
6. 830 - 610 = 21. 670 - 530 =
7. 880 - 550 = 22. 530 - 510 =
8. 550 - 490 = 23. 240 - 190 =
9. 540 - 190 = 24. 800 - 390 =
10. 250 - 50 = 25. 770 - 250 =
11. 270 - 210 = 26. 860 - 560 =
12. 190 - 110 = 27. 320 - 180 =
13. 830 - 150 = 28. 230 - 80 =
14. 670 - 170 = 29. 180 - 60 =
15. 750 - 660 = 30. 140 - 70 =
/

A




(Subtiaction

| K

| ANSWER KEY

1. 490 130 = 360 16. 430 330 = 100
2. 670 - 590 = 80 17. 720 510 = 210
3. 880 - 430 = 450 18. 860 - 630 = 230
4. 430 - 400= 30 19. 390 140 = 250
5. 970 820 = 150 20. 440 150 = 290
6. 830 610 = 220 21. 670 530 = 140
7. 880 550 = 330 22. 530 510 = 20
8. 550 - 490 = 60 23. 240 190 = 50
9. 540 190 = 350 24. 800 - 390 = 410
10. 250 50 = 200 25. 770 250 = 520
11. 270 210 = 60 26. 860 - 560 = 300
12. 190 110 = 80 27. 320 180 = 140
13. 830 150 = 680 28. 230 80 = 150
14. 670 170 = 500 29. 180 60 = 120
15. 750 660 = 90 30. 140 70 = 70
/

A




(Subtiaction

| Sula+rac+ina humbers enalina in whole tens..
-

1. 380 - 190 = 16. 860 - 690 =
2. 460 - 370 = 17. 210 - 180 =
3. 970 - 440 = 18. 120 - 110 =
4. 150 - 60 = 19. 520 - 370 =
5. 390 - 210 = 20. 850 - 430 =
6. 380 - 180 = 21. 850 - 670 =
7. 670 - 270 = 22. 590 - 380 =
8. 840 - 190 = 23. 540 - 150 =
9. 830 - 550 = 24. 340 - 270 =
10. 440 - 430 = 25. 360 - 190 =
11. 310 - 180 = 26. 520 - 240 =
12. 420 - 240 = 27. 450 - 220 =
13. 530 - 380 = 28. 150 - 80 =
14. 980 - 880 = 29. 990 - 380 =
15. 730 - 550 = 30. 320 - 270 =
/

A




(Subtiaction

|

| ANSWER KEY

1. 380 - 190 = 190 16. 860 - 690 = 170
2. 460 - 370 = 90 17. 210 - 180 = 30
3. 970 - 440 = 520 18. 120 - 110 = 10
4. 150 60 = 90 19. 520 - 370 = 150
5. 390 - 210 = 180 20. 850 - 430 = 420
6. 380 - 180 = 200 21. 850 - 670 = 180
7. 670 - 270 = 400 22. 590 - 380 = 210
8. 840 - 190 = 650 23. 540 - 150 = 390
9. 830 - 550 = 280 24. 340 - 270 =_70
10. 440 - 430 = 10 25. 360 - 190 = 170
11. 310 - 180 = 130 26. 520 - 240 = 280
12. 420 - 240 = 180 27. 450 - 220 = 230
13. 530 - 380 = 150 28. 150 80 = 70
14. 980 - 880 = 100 29. 990 - 380 = 610
15. 730 - 550 = 180 30. 320 - 270 = 50
/

A




(Subtiaction

| Subtracting numbers enalinﬂ in whole hundreds.
-

1. 8900 -8800= 16. 6100 -5200=
2. 300 - 100 = 17. 8300 - 7700=
3. 700 - 100 = 18. 4700 - 1600=
4. 500 - 300 = 19. 5900 - 3200=
5. 2100 - 1700= 20. 1100 - 100 =
6. 3100 - 2400= 21. 6100 - 3500=
7. 5700 - 1600= 22. 3300 - 2700=
8. 9300 - 2500= 23. 7200 -2400=
9. 1400 - 1100= 24. 9700 - 8100=
10. 1500 - 700 = 25. 3400 -1900=
11. 6300 - 4300= 26. 5600 - 3900=
12. 4900 - 3300= 27. 4100 - 2300=
13. 7700 - 300 = 28. 3100 - 1700=
14. 2300 - 1500= 29. 7900 -1800=
15. 1900 - 300 = 30. 1500 - 1200=
/

A




(Subtiaction

11.

12.

13.

14.

15.

10.

5700 -1600= 4100

. 9300 -2500= 6800

. 1400 -1100=_300
1500 - 700 = 800
6300 -4300=_2000
4900 -3300= 1600
7700 - 300 = 7400
2300 -1500= 800
1900 - 300 = 1600

22.

23.

24.

25.

26.

27.

28.

29.

30.

| K

| ANSWER KEY

1. 8900-8800= 100 16. 6100 -5200= 900
2. 300 - 100= 100 17. 8300 -7700= 600
3. 700 - 100 = 600 18. 4700 -1600=3100
4. 500 - 300= 200 19. 5900-3200=2700
5. 2100 -1700= 400 20. 1100 - 100 =1000
6. 3100 -2400= 700 21. 6100 -3500=2600

3300 -2700= 600

7200 -2400=4800

9700 - 8100=1600

3400 -1900=1500

5600 -3900=1700

4100 -2300=1800

3100 -1700=1400

7900 -1800=6100

1500 -1200= 300

[




(Subtiaction

|
L

$u|0+r'ac+ihﬁ humbers enalinﬂ in whole hundreds,

1. 9100 -7200 =

2. 8900-6600 =

3. 8200-6300 =

4. 3300-1300 =

5. 4700 -1400 =

6. 8700 -3900 =

7. 6900 -5900 =

8. 6400-6400 =

9. 6300 -5300 =

10.3600 -2200 =

11. 4800 -4400 =

12.9800-7800 =

13. 5500 -3900 =

14. 5900 -1900 =

15. 7300 -3600 =

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

7700 -7300=

6200 - 6100=

3200 -2300=

1300 - 900 =

1900 - 800 =

1900 -1300=

5300 -4400=

9300 -7900=

7200 - 800 =

1700 - 400 =

3100 -1600=

1800 -1200=

4100 - 900 =

6200 -3700=

5100 -4800=

A




(Subtiaction

|
L

ANSWER KEY

1. 9100 -7200 =

2. 8900-6600 =

3. 8200-6300 =

4. 3300-1300 =

5. 4700 -1400 =

6. 8700 -3900 =

7. 6900-5900 =

8. 6400-6400 =

9. 6300 -5300 =

10.3600 -2200 =

11. 4800 -4400 =

12.9800-7800 =

13. 5500 -3900 =

14. 5900 -1900 =

15. 7300 -3600 =

1900

2300

1900

2000

3300

4800

1000

1400

400

2000

1600

4000

3700

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

7700 -7300=

6200 - 6100=

3200 -2300=

1300 - 900 =

1900 - 800 =

1900 -1300=

5300 -4400=

9300 -7900=

7200 - 800 =

1700 - 400 =

3100 -1600=

1800 -1200=

4100 - 900 =

6200 -3700=

5100 -4800=

400

600

3100

2700

1000

2600

600

4800

1600

1500

1700

1800

1400

6100

300

A




(Subtraction

| Subtracting whole hundreds From 4—oli3i+ humbers
-

1. 8397 - 800 = 16. 6146 - 500 =
2. 8837 - 900 = 17. 7352 - 300 =
3. 5235 - 600 = 18. 4561 - 600 =
4. 9116 - 300 = 19. 6766 - 600 =
5. 9721 - 900 = 20. 8873 - 700 =
6. 9117 - 900 = 21. 1989 - 800 =
7. 3439 - 600 = 22. 5216 - 800 =
8. 7398 - 100 = 23. 5542 - 900 =
9. 8113 - 700 = 24. 6377 - 300 =
10. 1212 - 400 = 25. 7788 - 200 =
11. 7465 - 600 = 26. 3219 - 200 =
12. 1743 - 900 = 27. 6352 - 400 =
13. 1335 - 500 = 28. 7755 - 700 =
14. 3153 - 200 = 29. 8166 - 800 =
15. 6813 - 300 = 30. 8872 - 900 =
/

A




(Subtiaction

| K

| ANSWER KEY

1. 8397 - 800 7597 16. 6146 - 500 = 5646
2. 8837 - 900 7937 17. 7352 - 300 = 7052
3. 5235 - 600 4635 18. 4561 - 600 = 3961
4. 9116 - 300 8816 19. 6766 - 600 = 6166
5. 9721 - 900 8821 20. 8873 - 700 = 8173
6. 9117 - 900 8217 21. 1989 - 800 = 1189
7. 3439 - 600 2839 22, 5216 - 800 = 4416
8. 7398 - 100 7298 23. 5542 - 900 = 4642
9. 8113 - 700 7413 24. 6377 - 300 = 6077
10. 1212 - 400 812 25. 7788 - 200 = 7588
11. 7465 - 600 6865 26. 3219 - 200 = 3019
12. 1743 - 900 843 27. 6352 - 400 = 5952
13. 1335 - 500 835 28. 7755 - 700 = 7055
14. 3153 - 200 2953 29. 8166 - 800 = 7366
15. 6813 - 300 6513 30. 8872 - 900 = 7972
/

A




(Subtiaction

| Subtracting whole hundreds From 4—oli3i+ humbers
-

1. 6437 - 900 = 16. 3432 - 900 =
2. 7788 - 300 = 17. 9140 - 700 =
3. 9654 - 300 = 18. 1730 - 500 =
4. 9443 - 400 = 19. 7599 - 400 =
5. 2892 - 700 = 20. 3548 - 500 =
6. 1081 - 700 = 21. 5927 - 800 =
7. 1377 - 600 = 22. 1035 - 300 =
8. 6060- 900 = 23. 6731 - 100 =
9. 4319 - 800 = 24. 7157 - 200 =
10. 4555 - 800 = 25. 8239 - 300 =
11. 3635 - 800 = 26. 3013 - 400 =
12. 5877 - 900 = 27. 2449 - 800 =
13. 9511 - 500 = 28. 5088 - 700 =
14. 3593 - 500 = 29. 9387 - 400 =
15. 4543 - 300 = 30. 9437 - 800 =
/

A




(Subtiaction

| K

| ANSWER KEY

1. 6437 - 900 5537 16. 3432 - 900 = 2532
2. 7788 - 300 7488 17. 9140 - 700 = 8440
3. 9654 - 300 9354 18. 1730 - 500 = 1230
4. 9443 - 400 9043 19. 7599 - 400 = 7199
5. 2892 - 700 2192 20. 3548 - 500 = 3048
6. 1081 - 700 381 21. 5927 - 800 = 5127
7. 1377 - 600 777 22. 1035 - 300 = 735
8. 6060 - 900 5160 23. 6731 - 100 = 6631
9. 4319 - 800 3519 24. 7157 - 200 = 6957
10. 4555 - 800 3755 25. 8239 - 300 = 7939
11. 3635 - 800 2835 26. 3013 - 400 = 2613
12. 5877 - 900 4977 27. 2449 - 800 = 1649
13. 9511 - 500 9011 28. 5088 - 700 = 4388
14. 3593 - 500 3093 29. 9387 - 400 = 8987
15. 4543 - 300 4243 30. 9437 - 800 = 8637
/

A




